
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
\  

𝟖+𝟑(𝟔+𝟔𝒙) 

𝟑𝟒𝒙−
𝟏𝟑 

−𝟔(−𝟔𝒙 − 𝟑) − 𝟐 + 𝟖𝒙 

𝟒(−𝟐𝒙+𝟔)+𝒙 

−𝟖 (𝟐𝒙−
𝟒 )+

𝟓 

𝟑𝟑𝒙 + 𝟏𝟒 

𝒙−
𝟏𝟖

 

𝟕+𝟗(−𝟐𝒙+𝟗)+𝟏 

−𝟏𝟐𝒙+
𝟑𝟓 

𝟏𝟖𝒙 + 𝟐𝟔 

𝟒𝟖𝒙 

−𝟐 (−𝟓𝒙+
𝟗 )−

𝟗𝒙 
𝟐𝟓𝒙 − 𝟖𝟖 −𝒙

+
𝟕+

𝟓(
−𝟒

+
𝟕𝒙

) 

𝟏𝟓𝒙+𝟐𝟖 −𝟖+
𝟔 (−𝒙−

𝟑 )+
𝟒 

−𝟕𝒙 + 𝟐𝟒 
𝟗𝒙

+
  𝟒(

𝟐𝒙
  +

  𝟓)
   

𝟗(𝟑𝒙−𝟗)−𝟕−𝟐𝒙 

𝟐𝒙+
𝟏𝟐 𝟒𝟎

𝒙+
𝟓 

𝟒(
𝟓  
+
  𝒙)

  +
  𝒙  

+
  𝟔 

𝟓𝒙−
𝟐𝟒 

−𝟓(−𝟕 − 𝟑𝒙) − 𝟕 −𝟐𝒙 + 𝟕 − 𝟑(𝟗 − 𝟒𝒙) 

−𝟏
𝟔𝒙

+
𝟑𝟕

 

𝟓𝟎𝒙−𝟏𝟗 

𝟒𝒙−
𝟗(𝟑−

𝒙) 

−𝟏𝟖𝒙 + 𝟖𝟗 

−𝒙+𝟏𝟑 

𝟏𝟕𝒙+
𝟐𝟎 

−𝟖+ 𝟖(𝟔𝒙 + 𝟏) 
−𝟓

( −
𝟕+

𝒙)
−
𝟕𝒙

 

𝟏𝟎𝒙−𝟐𝟎 

𝟒𝒙
+
𝟕(
𝟑+

𝟑𝒙
) −

𝟗 

−𝟕𝒙 + 𝟏𝟐 

−𝟕
𝒙+

𝟒(
−𝟔

+
𝟑𝒙

) 

𝟐(𝒙+𝟔)−𝟗𝒙 

−𝟔
𝒙−

𝟐𝟐
 

−𝟏 + 𝟓𝒙 + 𝟗(−𝟐 + 𝟓𝒙) 

𝟒𝟒𝒙+𝟏𝟔 

−𝟖 (−𝟓𝒙−
𝟏 )−

𝟑 

𝟏𝟑
𝒙−

𝟐𝟕
 𝟓𝒙+

𝟐𝟔 

𝟓 + 𝟖(𝟏 + 𝒙) − 𝟗𝒙 

𝟓𝒙+𝟕(𝟐+𝟒𝒙) 

𝟐𝟓𝒙+
𝟏𝟐 

𝟒𝒙
−
𝟓𝒙

+
𝟑(
𝒙+

𝟒)
 

 
Distributive 
Property 
Puzzle 

 
1. Cut out the 

pieces of the 
puzzle. 

 
2. Pick one 

piece.  Using 
the 
Distributive 
Property 
and 
Combining 
Like Terms 
simplify the 
expressions. 

 
3. Find the 

piece that 
has the  
squared 
answer. 

 
4. Put those 

edges 
together. 

 
5. Pick another 

problem, 
find the 
solution, & 
match edges. 
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